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QUESTION 1

Which main loT migration aspect should be reviewed for a manufacturing plant?
A. Sensors

B. Security

C. Applications

D. Wi-Fi Infrastructure

E. Ethernet Switches

Correct Answer: A

QUESTION 2

Which two foundational aspects of 0T are still evolving and being worked on by the industry at large? (Choose two)
A. WiFi protocols

B. Regulatory domains

C. Low energy Bluetooth sensors

D. loT consortia

E. Standards

Correct Answer: AC

QUESTION 3

When an SDN-based model is used to transmit multimedia traffic, which aspect should an architect consider while
designing the network?

A. QOE estimation
B. security

C. traffic patterns
D. flow forwarding

Correct Answer: A

QUESTION 4
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A network design includes a long signaling delay in notifying the Layer 3 control plane that an interface has failed Which
two of these actions would reduce that delay? (Choose two.)

A. Increase network stability.

B. Reduce the time for the network to reconverge.

C. Increase the natification of interface flaps.

D. Enable lower data link layer recovery systems to have an opportunity to restore the interface

Correct Answer: BD

QUESTION 5

You have been tasked with designing a data center interconnect to provide business continuity You want to encrypt the
traffic over the DCI using IEEE 802 1AE MACsec to prevent the deployment of any firewall or IPS. Which two
interconnect technologies support MACsec? (Choose two.)

A. EOMPLS

B. MPLS Layer 3 VPN

C. DMVPN

D. GET VPN

E. KVPLS

Correct Answer: AE
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